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Operation Transforms

N F(s) )t(f ,  t > 0
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Function Transforms
N F(s) )t(f ,  t > 0

2.1 1 ( ),tδ  unit impulse at t = 0

2.2 s ( ),t
dt
d δ  doublet impulse at t = 0
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the Gamma function is given in Appendix A
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Function Transforms

N F(s) )t(f ,  t > 0
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Function Transforms

N F(s) )t(f ,  t > 0

2.22 ( )( ) ω≠α
α+ω+

,
ss

1
2222 ( ) ( )





 ω

ω
−α

α











α−ω
tsin

1
tsin

11
22

2.23 ( )α+
α
ss2

( )[ ]texp11t α−−
α

−

2.24 22  + )+(s βα
β

( ) ( )tsintexp βα−

2.25 22  + )+(s

s

βα
α+

( ) ( )tcostexp βα−

2.26 22  + )+(s

s

βα
λ+ ( ) ( ) ( )









β





β
αλ+βα− tsin

-
tcostexp

2.27 22s

s

β+
α+

( ) 






α
β=φφ+β

β
β+α

arctan,tsin
22

2.28 22s

1

α−
( )tsinh1 α

α

2.29 22s

s

α−
( )tcosh α

2.30 




 α

s
arctan ( )tsin

t
1 α

2.31 s
1

t
1
π

2.32 α+s
1 [ ]texp

t
1 α−
π



5

Function Transforms
N F(s) )t(f ,  t > 0
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Bessel function given in Appendix A
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APPENDIX A

Gamma Function

Integral
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Series
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Bessel Function of the First Kind

Zero Order
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Modified Bessel Function of the First Kind

Zero Order
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First Order
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